Government of Chhattisgarh

MACE 431



State: Government of Chhattisgarh

Sanction Number: N/6/3952/2/7/76793

Sanction Date: 02/02/2017

Applications Type: Fresh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17

| plication ID SI | tudent Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|-------------------|-------------|--------|------------------|-------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 553978 JEEVAN J | OTI BAXLA | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 683019 AKCHAY I | KUMAR | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 885941 AMIT SIN | IGH | Male. | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 886566 KARISHMA | A TOPPO | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 983471 MOHAN L | AL | Malę | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1002815 DINANATH | OYIHTIHT H | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1003617 NANDLAL | BARA | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1081292 GOVINDA | KUMAR | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1292031 Kanchan | Kujur | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1294533 VINDU KU | JMAR | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1295719 PARWATI | SINGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1297205 BIJANTI L | AKRA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1297526 SONAM P | ANNA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1297770 SAMEER I | UNIM | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1297854 MENSI SI | NGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1298128 ASRITA K | ASHI | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1298133 KUMARI S | SUBANTI | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Ballampu > Place:

(Signature & Seal of Head of the Institution) Name (Capitalda बिल्ह्रोनय बलरामप्र

जिला- नलसमप्र (छ. म.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/3/10/76899

Sanction Date : 02/02/2017
Applications Type : Renewal

| plication ID | Student Name | Gender | | | The second second second second | | | 7 19 11 10 11 10 11 | Type. Reli | cvvai | |
|--------------|---------------------|--------|--------------------|---------|---------------------------------|--------|--------------------------|---------------------|------------|-----------|--------------|
| | | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
| 1311206 | SARWAN KUMAR THAKUR | Male | B. A./Arts/II | Renewal | 10 | 70 | | 115 | 1539 | 4654 | |
| 1114546 | SHANKAR KUMAR GUPTA | Male | B. Sc./Science/II | Renewal | 10 | 70 | , 00 | | | 1654 | 235 |
| 1276179 | SADEEP KUMAR | Male | B. Sc./Science/II | | | | 700 | 115 | 1589 | 1704 | 2404 |
| 1156008 | SATYAM GUPTA | | | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| | | Male | B. Sc./Science/II | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| | ARTI YADAV | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1589 | 1589 | |
| 1197012 | SONIYA YADAV | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | | | 2439 |
| 1173321 | RITA PAL | Female | B. Sc./Science/III | Renewal | 10 | | | U | 1589 | 1589 | 2439 |
| 1156016 | RAVISHANKAR GUPTA | Male | B. Sc./Science/III | | | 85 | 850 | 0 | 1589 | 1589 | 2439 |
| | AWESH GUPTA | | | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| | | Male | B. Sc./Science/II | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 1169209 | POOJA JAISWAL | Female | B. Sc./Science/II | Renewal | 10 | 85 | 850 | 0 | 1589 | | |
| | | | | | | | | | | 1589 | 2439 |
| | | | | | | Total: | 20850 | 1610 | 42353 | 43963 | 64813 |

Declaration:

Place : Date :

Bahrampur

3.02.17

(Signature & Seal of Head of the Institution)

Name (Capital Leters) :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/3/10/76899

Sanction Date: 02/02/2017

Applications Type: Renewal

| plication ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|--------------------------|--------|----------------------|---------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 584196 | SHARDA GUPTA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 1247179 | POOJA VISHVAKARMA | Female | B. Com./Commerce/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 139961 | SUSHMA YADAV | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 181619 | INDRAWATI YADAV | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 181713 | SONAM GUPTA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 169814 | Nirupa Gupta | Female | B. Sc./Science/III | Renewal | 10 | 85 | 850 | 0 | 1589 | 1589 | 2439 |
| 1161847 | MUNIYA PURI | Female | B. A./Arts/II | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 186428 | Mithlesh Kumar Prajapati | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 574778 | SANJOG GUPTA | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 1168334 | JANNAT ANSARI | Male | B. A./Arts/II | Renewal | 10 | 70 | 700 | 115 | 1539 | 1654 | 2354 |
| 992453 | AMIT KUMAR YADAV | Malė | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 1176379 | POOJA KUSHWAHA | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 1087797 | SARKRAJ ALAM | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 1197009 | AARTI YADAV | Female | B. A./Arts/III | Renewal | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 1088139 | SANJAY KUMAR | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |
| 1296955 | BABU LAL | Male | B. A./Arts/III | Renewal | 10 | 70 | 700 | 115 | 1539 | 1654 | 2354 |
| 1102105 | Praveen Kumar | Male | B. Sc./Science/III | Renewal | 10 | 70 | 700 | 115 | 1589 | 1704 | 2404 |

Declaration:

Place: Bahan bar
Date:

03-02-17

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

शासकीय नवीन महाविद्यालय बलराम्सुर

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: N/6/3952/3/10/76890

Sanction Date: 02/02/2017

Applications Type: Fresh

| plication ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|--------------------|--------|------------------|-------|-----------------|--------|--------------------------|-------------|-----------|-----------|--------------|
| 1292408 | SUSHIL KUMAR YADAV | Male | B. Sc./Science/I | Fresh | 10 | 70 | 700 | 115 | 1689 | 1804 | 2504 |
| 1303054 | SATISH GUPTA | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 1295991 | SURAJMANIA YADAV | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1296096 | RUPA YADAV | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1304487 | ANAMIKA DAS | Female | B. A./Arts/I | Fresh | 10 | 85 | 850 | 0 | 1639 | 1639 | |
| 1303056 | ANIL PAL | Male | B. Sc./Science/I | Fresh | 10 | 70 | 700 | 115 | 1689 | 1804 | 2504 |
| 1308519 | VINOD YADAV | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 1311196 | PRIYANKA PRAJAPATI | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1311106 | PRIYANKA LAL | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1275657 | ARTI KUMARI | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| | | | | | | Total: | 21000 | 1495 | 44983 | 89 1689 | 67478 |

Declaration:

Place: Polsembun
Date: (3.62-12)

(Signature & Seal of Head of the Institution)
Name (Capital Leters):



Government of Chhattisgarh

MACO :- 27 Florall: - 27

54 total



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/3952/3/10/76890

Sanction Date: 02/02/2017

Applications Type: Fresh

| plication ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|----------------------|----------|--------------------|-------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 951712 | Manmati yadev | Female | B. A./Arts/I | Fresh | 10 | 85 | 850 | 0 | 1639 | 1639 | 2489 |
| 1253471 | PRATIMA YADAV | Female | B. A./Arts/I | Fresh | 10 | 85 | 850 | 0 | 1539 | 1539 | 2389 |
| 1254379 | SHARDA YADAV | Female | B. A./Arts/I | Fresh | 10; | 85 | 850 | 0 | 1639 | 1639 | 2489 |
| 1255296 | JYOTI GUPTA | Female | B. A./Arts/I | Fresh | 10 | 85 | 850 | 0 | 1639 | 1639 | 2489 |
| 698190 | YKSHRAJ DEVGAN | Male | B. Com./Commerce/I | Fresh | 10 | 70 | 700 | 115 | 1754 | 1869 | 2569 |
| 1255663 | DEEPAK KUMAR SONI | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1754 | 1869 | 2569 |
| 896525 | ANURAG GUPTA | Male | B. Sc./Science/I | Fresh | 10 | 70 | 700 | 115 | 1689 | 1804 | 2504 |
| 1256056 | ROHIT KUMAR GUPTA | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 1285871 | MAHENDRA KUMAR RAJAK | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 897211 | AAZAD AHMAD | Male | B. Sc./Science/I | Fresh | 10 | 70 | 700 | 115 | 1689 | 1804 | 2504 |
| 962151 | SUSHMA SWARAJ GUPTA | - Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1299740 | JAYANT GUPTA | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 1302381 | AASHA GUPTA | Female | B. A./Arts/I | Fresh | 10 | 85 | 850 | 0 | 1639 | 1639 | 2489 |
| 1273588 | SUMIT GUPTA | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850: | 0 | 1689 | 1689 | 2539 |
| 1302767 | BAJRANG BALEE YADAV | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |
| 1273842 | PRIYANKA PAL | Female | B. Sc./Science/I | Fresh | 10 | 85 | 850 | 0 | 1689 | 1689 | 2539 |
| 1302998 | ASHISH KUMAR | Male | B. A./Arts/I | Fresh | 10 | 70 | 700 | 115 | 1639 | 1754 | 2454 |

Declaration:

Place: Redrem on

8-3.02.17

(Signature & Seal of Head of the Institution) Name (Capital Leters)

क्षित्रा- बलरामपुर (छ. ग.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/1/9/76821

Sanction Date : 02/02/2017
Applications Type : Renewal

| plication ID | | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|-----------------|--------|--------------------|---------|-----------------|----------|--------------------------|-------------|-----------|-----------|--------------|
| 596522 | SHIVNATH RAM | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1520 | |
| 1087644 | RAJ KUMAR | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | | | 1539 | 4539 |
| 1168017 | AVDHESH KUMAR | Male | B. A./Arts/II | Renewal | 10 | 300 | | 0 | 1589 | 1589 | 4589 |
| 1168041 | SUKHLAL NAYAK | Male | B. A./Arts/III | Renewal | | | 3000 | 0 | 1539 | 1539 | 4539 |
| 1170729 | SAKENDRA KUMAR | Male | B. A./Arts/II | A | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1170736 | SUNNYDEOL RAM | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| | MUNESHWAR RAM | | | Renewal | 9 | 300 | 2700 | 0 | 1539 | 1539 | 4239 |
| | BHARAT KUMAR | Male | B. Sc./Science/III | Renewal | 9 | 300 | 2700 | 0 | 1589 | 1589 | 4289 |
| | | Male | B. Sc./Science/II | Renewal | 9 | 300 | 2700 | 0 | 1589 | 1589 | 4289 |
| | TIRANGA SONWANI | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1589 | 1589 | 4589 |
| | ALKA SONWANI | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1589 | 1589 | 4589 |
| 202616 | MANGAL RAM | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | |
| | | | | | | Total: | 32100 | 0 | | | 4539 |
| | | | | | | . Jean i | 32100 | U | 17279 | 17279 | 49379 |

Declaration:

Place: Berbormbun

Date: 03-62-12

(Signature & Seal of Head of the Institution) Name (Capital Leters):

शासकीय नवीन यही विधालय बहारामधुर



Government of Chhattisgarh

mace 11
penoct: -02



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/3952/1/9/76817

Sanction Date: 02/02/2017

Applications Type: Fresh

| Application ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|----------------|-----------------|--------|--------------------|-------|-----------------|--------|--------------------------|-------------|-----------|-----------|--------------|
| 1081341 | VIRENDRA RAVI | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1269508 | SHIVPUJAN LAHRE | Male | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 3 | 1639 | 1642 | 4642 |
| | | | | | | Total: | 6000 | 3 | 3328 | 3331 | 9331 |

Declaration:

Certifled that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date : Balcompm 03-02-17

(Signature & Seal of Head of the Institution)

Name (Capital Leters) : शासकीय नाम कामिसालय बलरावपुर General Streetings (St. 17.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/2/7/76815

Sanction Date: 02/02/2017

Applications Type: Renewal

| Application ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|----------------|----------------|--------|-------------------|---------|-----------------|--------|--------------------------|-------------|-----------|-----------|--------------|
| 1298415 | KAVITA SINGH | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1299679 | AMRITA DEVANHA | Female | B. Sc./Science/II | Renewal | 9 | 300 | 2700 | 0 | 1639 | 1639 | 4339 |
| 1299863 | SHIL BANU MINJ | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1309774 | AJAY SINGH | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1310422 | NEELAM LAKRA | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| | | | | | | Total: | 183000 | 0 | 91662 | 91662 | 274662 |

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs,Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period if is detected.

Place:

Bakambin Date:

(Signature & Seal of Head of the Institution) Name (Capital Leters) व व विभागवाधिकार्य वदावाधुर

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/2/7/76815

Sanction Date: 02/02/2017

Applications Type: Renewal

| pplication ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|---------------|-------------------|--------|--------------------|---------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 1163073 | SONIYA SINGH | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 1163295 | RAMBHA MINJ | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 1165520 | RAVINDRA RAM | Male | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 1165656 | SUSHMDANI TOPPO | Male | B. Sc./Science/II | Renewal | 9 | 300 | 2700 | 0 | 1639 | 1639 | 4339 |
| 1166456 | PRIYANKA RAKSHEL | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1168157 | SHARVAN LAKRA | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1168622 | SAPNARANI EKKA | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1170668 | VANDNA EKKA | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1171249 | DEELIP RAM | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1176577 | SUMITRA AAYAM | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1177706 | NEETU. LAKRA | Female | B. Sc./Science/II | Renewal | 9 | 300 | 2700 | 0 | 1639 | 1639 | 4339 |
| 1180307 | SARITA TIRKEY | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1180364 | KAUSHALYA TIRKEY | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1290723 | SMITA KACHCHHAP | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1295647 | SHIVANTI NAGVANSI | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1296040 | RAMBHAGAT AAYAM | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1296975 | SANGEETA RAKSHEL | Female | B. Sc./Science/III | Renewal | 9 | 300 | 2700 | 0 | 1639 | 1639 | 4339 |
| 1297331 | RAMBICHAR RAM | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |

Declaration:

Place : Date :

Bokemps

03-02-77

(Signature & Seal of Head of the Institution)

Name (Capital Leters) :

जिल्हा- चलामपर (छ. ग.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/2/7/76815

Sanction Date: 02/02/2017

| | Academic real . 2016 - 1 | | | | 9 | | Applications | Type: Ren | ewal | | |
|----------------|--------------------------|---------|--------------------|---------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| Application ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
| 596896 | ANJNA XALXO | Female | B. Sc./Science/III | Renewal | 9 | 300 | 2700 | 0 | 1589 | 1589 | 428 |
| 601138 | TARA SURYAVANSHI | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 607304 | LAGHUTAM PRASAD | Male to | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 630248 | SUNEETA KUMARI | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 453 |
| 709067 | rambhu singh | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | |
| 713786 | Shashikala Singh | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4639 |
| 745472 | SUNITA LAKRA | Female | B. Sc./Science/II | Renewal | 10 | 570 | 5700 | 0 | 1639 | 1639 | 4539 |
| 1087349 | SANJAY KUMAR SINGH | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1639 | | 7339 |
| 1087581 | JAIDEEP MAHTO | Male | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1087654 | DEEPAK KUMAR SINGH | Male. | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1639 | 4639 |
| 1087682 | NAVEEN KUMAR KUJUR | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| 1138635 | JAY KUMAR LAKRA | Male | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1539 | 4539 |
| 1146625 | SUSHMA MINJ | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | | 1639 | 4639 |
| 1147010 | KALPANA TIRKEY | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1156359 | KU MANISHA | Female | B. Sc./Science/III | Renewal | 9 | 300 | 2700 | 0 | 1639 | 1639 | 4639 |
| 1156503 | KUSUM TIRKEY | Female | B. A./Arts/II | Renewal | 10 | 300 | | 0 | 1639 | 1639 | 4339 |
| 1156660 | ANIMA TOPPO | Female | B. A./Arts/III | Renewal | | | 3000 | 0 | 1539 | 1539 | 4539 |
| 1162331 | VARSHA SINGH | Female | B. Sc./Science/III | | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| laration : | | Citiale | D. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Balzampin 03-02-17 Date:

(Signature & Seal of Head of the Institution) Name (Gapital Leters)

िला- बलसम्पर (छ. ग.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: R/6/3952/2/7/76815

Sanction Date: 02/02/2017

| plication ID | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|--------------------|--------------------------|--------------------|---------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 133913 | ATUL KANT | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 450 |
| 551263 | SUGAN MINJ | Female | B. Sc./Science/II | Renewal | 10 | 300 | 3000 | 0 | | | 4539 |
| 609228 | SONAL SINGH | Female | B. A./Arts/III | Renewal | 10 | 300 | | | 1589 | 1589 | 4589 |
| 1171109 | SUMITA THITHIYO | Female | B. Sc./Science/II | Renewal | 10 | | 3000 | 0 | 1539 | 1539 | 4539 |
| 1171423 | BASANT KUMAR SINGH | Male | B. Sc./Science/II | Renewal | | 300 | 3000 | 0 | 1589 | 1589 | 4589 |
| 1294132 | ANJITA TOPPO | Female | B. Sc./Science/II | | 10 | 300 | 3000 | 0 | 1589 | 1589 | 4589 |
| 1300579 | ANCHAL PALHE | Female | | Renewal | 10 | 300 | 3000 | 0 | 1589 | 1589 | 4589 |
| | PRIYANKA URANV | | B. Sc./Science/III | Renewal | 10 | 570 | 5700 | 0 | 1589 | 1589 | 7289 |
| | PRAMOD KUMAR | Female | B. A./Arts/III | Renewal | 10 | 570 | 5700 | 0 | 1539 | 1539 | 7239 |
| | | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| | HEMANTI NAGWANSI | Female | B. A./Arts/III | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | 4539 |
| | GEETA SINGH | Female | B. A./Arts/II | Renewal | 10 | 300 | 3000 | 0 | 1539 | 1539 | |
| | NEHA RANI PAINKRA | Female | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1589 | | 4539 |
| 312040 | SUMESH KUMAR | Male | B. A./Arts/III | Renewal | 10 | 300 | 3000 | | | 1589 | 4589 |
| 492913 / | AMRIT LAL PAIKRA | Male | B. A./Arts/III | Renewal | 10 | 300 | | 0 | 1539 | 1539 | 4539 |
| 528113 | ARTI KIRAN LAKRA | Female | B. A./Arts/II | Renewal | 10 | | 3000 | 0 | 1539 | 1539 | 4539 |
| 559502 A | AMRITA PAINKRA | Female | B. A./Arts/II | | | 300 | 3000 | . 0 | 1539 | 1539 | 4539 |
| 586512 F | PANKAJ MINJ | Male | | Renewal | 10 | 570 | 5700 | 0 | 1539 | 1539 | 7239 |
| | | Tridic | B. Sc./Science/III | Renewal | 10 | 300 | 3000 | 0 | 1589 | 1589 | 4589 |

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Balampro Date: 0300-17

(Signature & Seal of Head of the Institution) Name (Capital Leters)

विनवीन महाविधार (छ. म.)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: N/6/3952/2/7/76793

Sanction Date: 02/02/2017

Applications Type: Fresh

| plication ID | Student Name | Gender | Course | Type | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|--------------|----------------------|--------|--------------------|-------|-----------------|--------|--------------------------|-------------|-----------|-----------|--------------|
| 1302749 | SAMITA KUJUR | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1303613 | ANITA MARKAM | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1304202 | SAMEEN TOPPO | Male . | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1305645 | Chinta Singh | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1306037 | MANJUSHA KUJUR | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1306364 | SUSHMA TIGGA | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1306986 | KUMARI SHAKUNTI | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1307065 | PRABHAWATI KACHCHHAP | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1307231 | ANKITA LAKRA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1307271 | SEEMA SINGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1307287 | AJAY KUMAR SIDAR | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1307326 | GEETA PANNA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1307338 | SARITA SINGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1308562 | KUMARI SHUSHMA | Female | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| | | | | | | Total: | 203400 | 0 | 110863 | 110863 | 314263 |

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

03-02-17

(Signature & Seal of Head of the Institution) Name (Capital Letera) हात्य बलरामपुर

जाना- जलरामपर (छ. ग.)

Government of Chhattisgarh

State: Government of Chhattisgarh

Sanction Number: N/6/3952/2/7/76793

Sanction Date: 02/02/2017

Applications Type: Fresh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT, NAVIN COLLEGE HALRAMPHIE

Academic Year: 2016 - 17

| Application ID | Student Name | Gender | Course | Type | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|----------------|---------------------|---------|--------------------|-------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 700371 | JUNESH RAM HATHLU | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 844603 | Umesh Kumar | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 925681 | PREMSHILA KISPOTTA | Female | B. Sc./Science/I | Fresh | 10 | 570 | 5700 | 0 | 1689 | 1689 | 7389 |
| 1004886 | MAHESH KUMAR | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 924703 | JAGMANI LAKRA | _Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 987245 | PAREMANEE KACHCHHAP | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1107788 | Sunil Lakra | Male | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1292194 | KANTI XALXO | Female | B. Sc./Science/I | Fresh | 9 | 300 | 2700 | 0 | 1689 | 1689 | 4389 |
| 1293840 | KAJAL TIRKEY | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1295389 | ASHA PAIKRA | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1296213 | SAROJNI SINGH | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1297300 | kiran singh | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1297382 | RESHMI MINJ | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1298373 | ASHISHTA KUJUR | Female | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1299015 | KUMARI ALIS | Female | B. Sc./Science/(| Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1299050 | SANGEETA EKKA | Female | B. A./Arts/1 | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1299628 | SABINA KACHHAP | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| 1299928 | ANNAPURNA SINGH | Female | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |
| eclaration : | | | | | | | | | 1005 | 1003 | 1003 |

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Borlsomper 03/02/17 Place:

Date :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

शास्त्रिक विज्ञानियानियान्य बलायपुर

Now then the gluter for Scholarship

Severement of Chhattingarh

Moderable to home Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2016 - 17



State: Government of Chhattisgarh

Sanction Number: N/6/3952/2/7/76793

Sanction Date: 02/02/2017

Applications Type: Fresh

| ڵۺٳڵٵڕؙؙٵڴڴ ؙ | Student Name | Gender | Course | Туре | No. of Month | Rate | Maintenence Allowance | Tuition Fee | Other Fee | Total Fee | Total Amount |
|------------------|---------------------|--------|--------------------|-------|-----------------|------|--------------------------|-------------|-----------|-----------|--------------|
| 1298149 | SUNITA POYA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1298151 | DURGAWATI SINGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1298518 | RAMJEET MARKAM | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1299997 | NEHA XALXO | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1.4000/38 | 'HANITA PAIKRA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1 1001 /9 | MANITA EKKA | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| (10 / 905 | PHAMILIA KHAIRWAR | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1 003 Para | FAUSHIYA KACHHAP | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| (30) (5.2 | DINDU KUMARI | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1001/66 | FILLIFA SINGH | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 3 107 (137) | RELITIONA TOPPO | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1.007150 | PANKA) KUMAR | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1.007/94 | AXAX ATHEOR | Female | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1 10 / 10 1 | ALTIC STE KUMAR | Male | B. A./Arts/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| (11) 111 | THE TAKEA | Male | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 1100307 | FUALITY FULLAR MINT | Male | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| 180116 | BAUDALL SANGL | Male | B. Com./Commerce/I | Fresh | 10 | 300 | 3000 | 0 | 1639 | 1639 | 4639 |
| (001)1) | WMI III III IIMM | Male | B. Sc./Science/I | Fresh | 10 | 300 | 3000 | 0 | 1689 | 1689 | 4689 |

timitarathus.

to be the first first tution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from total both the first first form all sources of the first form the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts for the first scholarship/atipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

ob the experience

(Signature & Seal of Hend of the Institution)
Name (Capital Leters)

जिला- जलरामपुर (छ. ग.)